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SPORT 

Wimbledon 2016 starts on Monday! 

256 competitors dream of singles  
glory! There are equal amounts of  
female and male competitors. Each  
round consists of head-to-head  
matches with the winner from each  
tie going through to the next round. 
 
How many matches would Andy  
Murray have to play in order to  
win the tournament for the second  
time? 

TECHNOLOGY 

China builds world’s most 
powerful computer 

A new supercomputer from China has  
topped the latest list of the world's  
most powerful machines. At its peak,  
the computer can perform around  
93 000 000 000 000 000  
calculations per second. 
 

Write this number in words. 

Debenhams shares fall after sales dip 

Shares in Debenhams have fallen by 6% after it posted  
a slight drop in sales. Before the drop shares cost £61.  
How much do shares cost now after the sales drop? 

ECONOMY 

Mitsubishi forecasts huge loss in wake of fuel scandal 

BUSINESS 
Mitsubishi Motors has forecast a net  
loss of 145 billion yen for the current  
business year in the wake of its fuel  
efficiency scandal. If the exchange  
rate is £1 = 139·93 Japanese Yen how  
much is this loss in pounds and pence? 

Electric car sets  
world acceleration  
record 

ENVIRONMENT 

An electric racing car  
has broken the world  
record for acceleration 
by battery-powered  
vehicles. 
 

The car took only 1·513  
seconds to reach  
100 km/hr (62m.p.h.).  
How many kilometres  
are there in 1 mile?  
 

Round your answer to  
2 decimal places. 


